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MODULE PURPOSE

This module is intended for students who are studying towards a Postgraduate Diploma in
Accounting Sciences (CTA Level 1) and ultimately towards the Certificate in the Theory of
Accounting (CTA), a prerequisite for the professional qualification of Chartered Accountant (SA)
(registered with SAICA). This module will help you to develop the prerequisite competencies
relating to Management Decision Making and Control (MDC); as well as Strategy, Risk
Management (SRM), and Financial Management (FM).

INTRODUCTION AND OVERVIEW

This tutorial letter aims to provide students with tutorial matters relating to Management Decision Making
and Control topics (often referred to as Costing). This tutorial letter will build upon your prior knowledge
and introduce a few new concepts relating to decision-making and control.

PRE-REQUISITES

The parts and learning units in this tutorial letter build, to a large extent, upon prior knowledge obtained
in your undergraduate Management Accounting studies. It is therefore assumed that you have achieved
the necessary prior learning. Please refer to your undergraduate study material if necessary.

STRUCTURE OF THIS TUTORIAL LETTER

This tutorial letter is structured in three parts, each containing several learning units. Please refer to the
diagram following this section for a schematic presentation of the module. A learning unit is the main
study area within a part, and each learning unit is further divided into sub-learning units. You will find
the outcomes that you are required to achieve for each learning unit in this tutorial letter at the beginning
of each learning unit. Self-assessment activities are provided at the end of each learning unit so that
you can assess whether you have mastered the learning outcomes.

The finance topics have already been dealt with in the previous tutorial letters. The costing topics will

be dealt with in this tutorial letter, and additional costing questions will follow in a subsequent tutorial
letter.

We suggest you allocate your time to this tutorial letter according to the following approximate allocation.

Part 1 Cost accounting bases and allocation (30%)
Part 2 Planning and control (40%)
Part 3 Decision-making (20%)

Integrated self-assessment test (10%)
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CONTENT = THIS MODULE

The diagram below contains a schematic presentation of the content of this module.
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STUDY MATERIAL AND RESOURCES
Prescribed study material
The prescribed textbooks for this module are:
. Management and Cost Accounting in South Africa (including Student’s Manual), 1% edition

(Drury, C)
° Managerial Finance, 10th edition (Skae et al. 2024)
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Important note:

In principle, this tutorial letter and the next refer to the textbook Management and Cost Accounting in
South Africa (including Student’s Manual), SA 1% edition (Drury, C.), which is vital to your success in
this course. This tutorial letter does refer to the 10" edition for those students who still want to utilise
that version.

The purpose of the content of this tutorial letter is to supplement the information in the textbook in areas
where it is considered necessary. It in no way replaces or can be considered a substitute for the
textbook. It, therefore, remains imperative that you work through the textbook in detail

The Management and Cost Accounting (Drury) SA 1% edition edition textbook includes open-access to
digital support resources. Students can access it by going to www.cengagebrain.co.uk and searching
for MANAGEMENT AND COST ACCOUNTING in South Africa 1% edition.

These books can be purchased hard copy or in the e-book format.



http://www.cengagebrain.co.uk/
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myUnisa resources

Please make use of myUnisa as it contains further resources to help you master this module. The
following resources are available on myUnisa (made available at appropriate times during the year):

1. Log-in to MyUnisa
2. Go to your Dashboard where you will find: _—— T\
3. Welcome message; U N ] S A wienity 15:%’
4. Welcome and introduction; _
e Questions and Answers for lecturers and |
students can be sent to to
MAC4861@unisa.ac.za, alternatively you can :
} . Part 1 COSTING: Introducti...
book a consultation with your lecturers by
C|icking here. Lesson 1: Nature, classific...
. .For. on-line lectures/ classes we will send you Lesson 2: Product Costing ..
invites
5. Additional Resources; Lesson 3: Planning and Co...
6. Announcements containing important
. . . N Lesson 4: STANDARD COS...
information/updates relating to this module.
7. Assessment for your formative and summative Lesson 5: Performance me...
results.
8. Calendar for important dates. Lesson 6: Information appli..
9. FAQ for frequently asked questions. Lesson 7: Decision-making...
10. Lessons containing studymaterial, on-line lectures,
screencasts, activities, etc. Besii Bl
11. Official study material containing your tutorial letters
for this module.
12. Prescribed Material for your textbooks.
13. Discussion Forum

TESTS

The learning units assessed by Test 1 will cover predominately (but not exclusively) the content of
learning units 1 — 3; and Test 2 will cover predominately (but not exclusively) the content of learning
units 4 — 7. Please note that the modules will be written on a rotational basis on the different test
dates —refer to CASALL1 Tutorial letter 301.

It is important to realise that the final examination (exam) papers of this module will integrate between
the various learning units (costing and finance). In preparation for the exam, you can therefore also
expect some level of integration in the tests.

Supplementary literature / additional reading

Refer to the Management Accounting Glossary and Bibliography at the end of this Tutorial letter. Also
refer to the recommended reading (including company websites) as indicated in the study material.


https://mymodules.dtls.unisa.ac.za/course/view.php?id=71432
mailto:MAC4861@unisa.ac.za
https://outlook.office365.com/owa/calendar/SoAALecturerOnlineConsultation@mylife.unisa.ac.za/bookings/
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General information and CTA news

For general information and CTA news please refer to the CTA Support Page.

The CTA support page can be accessed from our CAS website landing page.

The URL for this page is: https://www.unisa.ac.za/sites/corporate/default/Colleges/Accounting-
Sciences/CTA-student-support

Apply to study at the College

aduate qualifications

College of Accounting Sciences’ stature authenticated by leadership award

About the College of Accounting Sciences

The College strives for excellence in accounting education. The Colizge is well positioned in the higher education sector
and offers high-quality qualifications, accredited by the Council of Higher Education, including several qualifications
endorsed by professional bodies, both nationally and internationally

Schools, departments & centre

School of Accountancy

School of Applied Accountancy

Centre

CONCLUSION
We trust that the preceding sections will assist you in approaching your studies (linked to this tutorial
letter) in a methodical manner and with a greater level of understanding.

We hope you enjoy this part of your studies!

Regards,
Your Advanced Management Accounting lecturers


https://www.unisa.ac.za/sites/corporate/default/Colleges/Accounting-Sciences/CTA-student-support
https://www.unisa.ac.za/sites/corporate/default/Colleges/Accounting-Sciences/CTA-student-support
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PART 1 - COST ACCOUNTING BASES AND ALLOCATION

PART 1 - PURPOSE

The purpose of part 1 is to equip students with a critical and informed understanding of

° Key costing terms and guidelines
° concepts and established principles

in order to classify, record and present costs for the valuation of inventories and compile Statements
of Profit or Loss and Other Comprehensive Income on different bases.

PART 1 CONSISTS OF THE FOLLOWING LEARNING UNITS:

LEARNING UNIT TITLE
LEARNING UNIT 1 NATURE, CLASSIFICATION AND ALLOCATION OF COST
LEARNING UNIT 2 PRODUCT COSTING SYSTEMS

Introduction

Management accounting deals with managing accounting information within the organisation, focussing
on:

e critical information so that operational and strategic planning can be undertaken,
e decisions can be made, and
e control can be exercised and problems addressed.

There is no formal framework which regulates management accounting.

A logical mind and approach are required to address the aforementioned focus areas.

You will now be introduced to Management Decision Making and Control topics (often referred to as
Costing) at a postgraduate level.

You will build upon your prior knowledge and introduce a few new concepts relating to decision-making
and control.
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PART 1, LEARNING UNIT 1 — NATURE, CLASSIFICATION AND
ALLOCATION OF COST

THIS LEARNING UNIT CONSISTS OF THE FOLLOWING SUB-LEARNING UNITS:

LEARNING UNIT TITLE

LEARNING UNIT 1.1 Nature and classification of cost
LEARNING UNIT 1.2 Variable and absorption costing
LEARNING UNIT 1.3 Activity-based costing (ABC)

After studying this learning unit, you should achieve the following Learning outcomes:

LEARNING OUTCOMES

After studying this topic, you should be able to do the following:

1.1. Describe the definitions relevant to costing terms and systems.

1.1. Classify costs and apply cost concepts and cost estimation technigues in various scenarios.

1.2. Apply knowledge of variable and absorption costing systems in a case study scenario.

1.2. Advise on an applicable method when analysing a scenario.

1.2. Apply results of the total fixed overhead variance calculation to a practical case study and
correctly account for it in the Statement of Profit or Loss and other Comprehensive Income.

1.3. Apply an activity-based costing approach to costing information in a scenario.

1.3. Advise management on which type of costing system is appropriate and how the systems
differ.
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LEARNING UNIT 1.1 Nature and classification of cost

LEARNING OUTCOMES

After studying this topic, you should be able to do the following:

1.1. Describe the definitions relevant to costing terms and systems.
1.1. Classify costs, apply cost concepts, and cost estimation technigues in various scenarios.

Prior learning

This course assumes students have already mastered the work equivalent to that presented in Unisa’s
preceding undergraduate degree. Please ensure that you are up to date with the prior learning for the
nature, classification and allocation of costs. If not, please refer to your undergraduate study material
and revise the textbook (Drury) using the page numbers below:

Before you start with this section, you may like to revise important costing terms and concepts in Drury
SA 1% edition and MyUnisa Lessons 1 for the on-live screencast.

Prior learning Drury SA 1%tedition Drury 10th edition

Before studying this topic, you should
be able to:

Applicable references: Applicable references:

Drury Chapter 2: An

¢ Define and illustrate a cost object.

Understand the meaning of the
important cost definitions.

Distinguish between variable and fixed
costs.

Apply and describe the different
methods of estimating costs.

Calculate regression equations using
the least-squares methods and
evaluate the goodness of fit, using the
coefficient of correlation and coefficient
of determination.

Apply the high-low method.

introduction to cost terms
and concepts. Pages 29-
49

Drury Chapter 3: Cost
estimation and cost
behaviour. Pages 56 - 76

Drury Chapter 2:

An introduction to cost
terms and concepts.
Pages 22-39

Drury Chapter 24:

Cost estimation and cost
behaviour.

Pages 646-657

1.

Introduction

Learning unit 1.1 covers important costing concepts, definitions and tools that are used throughout the
costing syllabus. It is important at this stage that students do not undermine the importance of studying
for understanding. A solid foundation will enable an enjoyable “Costing” journey.

The following are brief descriptions of the critical terms in this learning unit. Bear in mind that the
classification of costs will vary between organisations and within a particular organisation according to
a particular management function.

The purpose of the content below is to supplement the textbook's information in areas considered
necessary. It in no way replaces or can be considered to be a substitute for the textbook. It, therefore,
remains imperative that you work through the textbook in detail.
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2. Costing terms
Cost

The cost of any item, whether production or service-driven, is determined by a quantifiable measurement
and a value measurement.

Cost classification

Classification is linked to the intended use of cost information, i.e. for inventory valuation, planning,
decision-making or control purposes.

Cost behaviour
Cost behaviour is driven by the different levels of activity and a variety of measures.
Cost estimation

Different methods are used for cost estimation, of which the high-low method is frequently found in
guestions.

3. High-low method

High-low method: a mathematical technique used to separate mixed costs into their fixed and
variable components.

Total cost = (Variable cost x Units produced) + Fixed costs
Step 1: Determine Variable cost per unit

= Cost at highest activity level — Cost at lowest activity level
Units produced at highest activity level — units produced at lowest activity level

Step 2: Determine fixed cost

Fixed costs = Total cost - (Variable cost x Units produced)

Note that in practice, you would probably not use this method as it is more crude than statistical or
software-driven solutions (Drury SA 1% ed, pages 62-63 or 10" ed, pages 651 — 652). We will highlight
a few problem areas in the application of the high-low method, as it is often one of the first steps in
answering a question and often misconstrued.

This method takes the highest and lowest activity levels and associated costs from the available
information and calculates the change in volume and cost between them. The assumption is that the
change in total costs between the two levels is attributable to the variable costs because fixed costs stay
the same within a normal capacity range (0%—-100%).
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Focus notes

1. The costs should be from the same fiscal period, i.e. the effect of inflation should be negated.
When working with figures derived under different inflationary conditions, all figures should first be
INDEXED to the same year. Thereafter, the high-low method can be applied.

2.  The selection of high and low is based on the activity level, not on the cost or value level.

3. Always remember that a high-low scenario only applies when there are different costs for two
activity levels during a specified period. You CAN'T compare a budgeted and actual activity and
do a high-low method application based on that. The high-low method is based on two levels of
budgeted activity or two levels of actual activity.

4. If you notice an inconsistent (unusual) increase or reduction in total costs relative to a specific
activity, (non-linearity,) ignore that activity level in your consideration of the high and low points. It
is important that you review all the data points, before deciding on the high and low levels.

Note: Additional Costing terms and Concepts will be provided for each respective Learning Unit.

Activity 1.1.1: Basic revision example

Attempt question: (Drury Textbook)
15t SA ed: Example 2.2 p 51 (Solution p 839)
10" ed: Question 2.28 p 40 (Solution p 740)

This question is for revision of sunk and opportunity costs for decision-making. Keep in mind that Mrs L/J
has 2 options: Should Mrs Lethabile/ Johnston continue with the business or should she sublet the shop
to her friend? What will the costs/salary of the two options be?

Activity 1.1.2: Basic revision example

Month Activity level Total overhead

units cost

R

July 110 5 500
August 90 4 500
September 80 4 400
October 100 5 000
November 130 6 000
December 120 5 600
REQUIRED

Determine the fixed and variable costs based on the given activity levels.
Feedback 1.1.2

Step 1: Choose the highest and lowest level of activity

The highest level of activity occurred in November, and the lowest was in September. The amount of
fixed cost will be constant every month (fixed costs don’t change). Therefore, the difference resulting
from the increased activity will be the variable cost.
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Step 2: Calculate the variable cost using the difference between the highest and lowest level of
activity

Activity R
level units
November 130 6 000
September (80) (4 400)
Change 50 1 600

The extra variable cost is R1 600. We can use this information to calculate the variable cost per unit.

Variable cost per unit = R1 600/50
R32/unit

Step 3: Determine the fixed cost

The fixed cost can be determined by substituting the information calculated above as follows:

OR
November (130 units) September (80 units)
R R
Total cost 6 000 Total cost 4 400
Variable cost (130 x R32) (4 160) Variable cost (80 x R32) (2 560)
Fixed cost 1840 Fixed cost 1840

Activity 1.1.3 - Extended example

Marthi Ltd presents the following budgeted information for one of their new production facilities:

Year 1 Year 2 Year 3 Year 4
Total overheads (R) 276 000 380 000 420 000 390 000
Total production (units) 12 000 25 000 30 000 35 000

REQUIRED

Determine the overhead rate.

Feedback 1.1.3
In total terms, the overhead decreases with R30 000 (R390 000- R420 000) from the 30 000 to
35 000 unit level. Thus, high-low should be applied to 12 000 and 30 000 where constant change
takes place. One can conclude that between 30 000 and 35 000, either the fixed or variable costs

or both are expected to change (probably due to the experience curve effect).

We will use the abbreviations VOH for variable overhead and FOH for fixed overhead.
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R(420 000 — 276 000)

VOH per unit = 30 000 - 12 000
R144 000
= 18 000
= R8 per unit
.. Total FOH = R420 000 - (30 000 x R8)

= R180 000

In substituting the above on the 35 000 level, the total cost is: (35 000 x R8) + R180 000 = R460 000,
corroborating the decision to exclude this level from the process.

Activity 1.1.4

Attempt question: (Drury Textbook)

15t SA ed: Question 3.17 p 78 (Solution p 840)
10" ed: Question 24.15 p 665 (Solution p 821)

Feedback 1.1.4
Note the effect of a stepped increase in fixed costs.

w

Video

Watch the screencast about a brief introduction costing terms and concepts available on MyUnisa refer
to lesson 1.1.

4. Summary
In this study unit, we revisited cost classification, behaviour and estimation with emphasis on applying
the high-low method.


https://mylifeunisaac.sharepoint.com/sites/CTACosting/_layouts/15/stream.aspx?id=%2Fsites%2FCTACosting%2FShared%20Documents%2FMAC4862%5F1%20lectures%2F2024%2FStrategy%20introduction%2FStrategy%20introduction%2Emp4&ga=1&referrer=StreamWebApp%2EWeb&referrerScenario=AddressBarCopied%2Eview
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LEARNING UNIT 1.2 Variable and absorption costing
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LEARNING OUTCOMES

After studying this topic, you should be able to do the following:

1.2. Apply knowledge of variable and absorption costing systems in a case study scenario.
1.2. Advise on an applicable method when analysing a scenario.
1.2. Apply results of the total fixed overhead variance calculation to a practical case study and

correctly account for it in the Statement of Profit or Loss and other Comprehensive Income.

Prior learning

This course assumes that students have already mastered the work equivalent to that presented in
Unisa’s preceding undergraduate degree. Please ensure that you are up to date with the prior learning
for variable and absorption costing. If not, please refer to your undergraduate study material and
revise the textbook (Drury) using the page numbers below:

Prior learning

Drury SA 1stedition

Drury 10th edition

Before studying this topic, you should be

able to do the following:

Distinguish between different types of cost
systems.

Describe the various denominator levels that
can be used with an absorption costing system.
Select an appropriate allocation base and a
suitable denominator or capacity level.
Distinguish between a blanket (plant-wide)
overhead rate and a departmental overhead
rate.

Apply primary (first stage) and secondary
(second stage) allocations of overheads when
determining departmental overhead rates.
Reallocate service departments’ overheads
where service departments render services to
each other and to production departments.
Justify why budgeted overhead rates should be
used in preference to actual overhead rates.
Calculate and explain the accounting treatment
of the under-/over-recovery of overheads.
Explain the differences between an absorption
costing and a variable costing system.

Prepare profit statements based on an
absorption and variable costing system and
reconcile and explain the difference in profits.
Explain the arguments for and against variable
and absorption costing.

Provide advice on the allocation of non-
manufacturing overheads in manufacturing
and service organisations for decision-making
purposes.

Applicable references:

Drury: Chapter 4: Cost
assignment. Pages 80 —
11.

Drury: Chapter 4:
Budgeted overhead rates
and Under- and over-
recovery of overheads.
Pages 94 — 102.

Drury: Chapter 4
Appendix 4.1
Inter-service department
reallocations. Pages
104 - 109.

Drury: Chapter 7:
Absorption and variable
costing systems. Pages
175 —199.

Now study IAS2 again.

Applicable
references:

Drury: Chapter 3:
Cost assignment.
Pages 44-51.

Drury: Chapter 3:
Budgeted overhead
rates and under- and
over-recovery of
overheads. Pages 61—
66.

Drury: Chapter 3:
Appendix 3.1
Inter-service
department
reallocations. Pages
68-72.

Drury: Chapter 7:
Income effects of
alternative cost
accumulation systems.
Pages 149-162.
Leave out the following
Appendix 7.1
Derivation of the profit
function for an
absorption costing
system. Pages 163—
164

Now study IAS2 again.
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1. Introduction

In the previous study unit, we used the nature of a cost to classify it as either fixed or variable, although
in practice many costs will have a dual nature or follow a step pattern. We will nhow use these
classifications to assign overhead costs to products.

In this learning unit, we revisit types of cost accumulation systems, namely absorption costing and
variable/direct costing systems, specifically those using traditional volume-based measures. In the next
topic, we will look at another absorption costing system, namely activity-based costing (ABC).

The purpose of the content below is to supplement the textbook's information in areas considered
necessary. It in no way replaces or can be considered to be a substitute for the textbook. It, therefore,
remains imperative that you work through the textbook in detail

2. Critical topics:

Bases of assigning overheads to cost objects

. Absorption vs variable costing

. Traditional volume-based measures

o Selecting an appropriate denominator level for the allocation of fixed production overheads

. Accounting treatment of over/under-recovery of fixed production overheads (volume and

expenditure) variances

3. Costing Concepts
' Backflush
Cost accumulation accounting
systems . :
/ \ (Learning unit 2.1)
Extensive
costing

Variable / Direct

systems for Absorption costing

tracking costs

N /

costing
(Learning unit 1.2)

(Learning unit 1.2)

N Activity -Based-
Traditional volume- Costing (ABC)

based measures

(Learning unit 1.3)

\

The traditional and ABC costing methods assist in assigning the fixed cost of conversion to
products and, therefore, are part of Absorption costing system.
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1. Financial accounting reporting perspective

According to IAS 2:10 Measurement of inventories, costs should include all of the following:

o Costs of purchase (including taxes, transport and handling), net of trade discounts received
° Costs of conversion (including fixed and variable overheads)
° Other costs incurred in bringing the inventory to its present location and condition

Inventory costs should not include: (IAS 2.16 and 2.18)

Abnormal waste (Refer to Learning unit 2.2: Process Costing)
Storage costs

Administration overheads unrelated to production

Selling costs, etc.

From the above it is clear that for IAS accounting purposes the Statement of Profit or Loss and other
Comprehensive Income and Statement of Financial Position (SFP) is prepared on the absorption
costing basis, i.e. fixed production overhead is included in the cost of inventories.

This means that the cost of inventory includes the following production costs:

Material - included directly in production costs
Labour - included directly in production costs (Refer to further note on why labour can be a fixed cost)
Overhead - allocated to production using a selected basis

Absorption costing ——» used for financial accounting
Variable costing —— used for management accounts and decision-making purposes

You should also know the purpose and use of the Variable and Absorption costing systems and
how they differ:

Reporting

Financial CVP analysis
reporting
Break even point,
Absorption costing Variable costing safety margin, etc.

Managerial reporting, such as Cost-Volume-Profit (CVP), forms part of Learning unit 3: Planning and
Control.
[Note: Costing terms and concepts are dealt with throughout the various Learning units.]
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2. lllustration of the difference between absorption and variable/direct costing

Refer to the two different Statement of Profit or Loss and Other Comprehensive Income below for an
illustration of how the profits are determined under each basis and how the presentation differs:

R
Absorption costing Variable/Direct costing R
- Turnover 4 800
Tumover 4800 'umove 5
1 840 es (2 880)
Less = 3840) €SS < s
~ - Vanable cost of sales
Cost of sales ’ Fixed and anable « f sak ONLY —
~ { —=5a~1 Opening inventory ) 540
Opening inventory f-. variable 72! aadad’ Aot J » variable
= - S Production cost : 21
Production cost \ manufacturing 1 26 manufacturing
- Less: Closing inventory -~ (180)
Less: Closing inventory (240) N | e
Total Fixed overhead vanance (Under- or over (72) ) ~
. p o Less.  Other vanable costs (non- 75)
recovery of overheads)
\Z I 1 manuli nng
Volume vanance (fixed manufactunng (BU) \anufactunng
overheads / labour)
Expenditure vanance (12) R —
. v 845
Gross profit 888 Contnbution 1 845
Less: All non-manufactunng costs (375)
Less xed costs (m factun and nor 212)
(fixed and varniable) (period cost Less. Fixe (manufactunng and non (1
manufactunng) (total actual amount
ot S12 il 83

3. Additional information:

Variable Costing requires Contribution calculation:
Contribution = Turnover (Sales) — ALL variable costs

When variable costing is applied:
Total fixed production overheads variance = Expenditure variance only.
The fixed production overheads volume variance is not applicable.

The Fixed production overhead expenditure variances is shown when preparing a Statement of Profit
or Loss and Other Comprehensive Income on the variable costing method.

Absorption costing requires Gross Profit calculation:
Gross Profit = Turnover (Sales) — ALL production costs (Cost of Sales)

When absorption costing is applied:
Total fixed production overheads variance = Volume variance + Expenditure variance.

An adverse volume variance means the actual production volume is less than the budgeted production
volume used. Favourable volume variance: actual production volume is more than the budgeted
production volume used. [Refer to Learning unit 4: Standard costing for a more detailed explanation.]

The total fixed production overheads variance for overhead/labour should be included ABOVE the gross
profit line, as part of the production cost for the period under review.

(Note: due to different teaching applications, volume variance below the line will still earn marks when
clearly shown).

The volume and expenditure variances are reflected on the Statement of Profit or Loss and Other
Comprehensive Income if the absorption costing method is applied.
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The discussion which follows covers questions and answers that students generally experience
problems with:

Why is labour in most instances a fixed cost? Should | treat labour the same way that | treat
other fixed manufacturing production overhead?

“Labour costs have traditionally been regarded as variable on the assumption that management can
retrench workers in the event that production levels decline. In practice, downsizing and retrenching
workers is not a unilateral decision, and negotiations with unions are required before wide-scale
retrenchments can be implemented. In any event, retrenchments are not an everyday occurrence. To
assume that labour costs are variable because of the potential to reduce these may be inappropriate.”
Machines or plants can also be taken out of production. That does not make costs relating to machines
or plants variable!

Furthermore, in many production facilities, employees oversee automated machines. Their labour effort
cannot be traced to individual units. This type of labour would then be classified as overhead and usually
fixed for the same reason as explained above.

Therefore, labour is often a fixed cost and should then be treated like fixed overheads. In
scenarios presented to you, we will clearly indicate if some labour is variable, i.e. piece work. In the
absence of this you may assume that the manufacturing labour component is included in fixed
production overheads.

So why are you using the estimated/budgeted fixed overheads and calculating a rate? When do
you calculate the cost of your product? Do you need to know the cost price as you sell it
throughout the year or do you calculate it when you have all the information at the end of the
year?

You don’t know what your actual overhead is going to be until the end of the year, but you can’t delay
your cost calculations until the end of the year. How will you quote the selling price of your products if
you don’t know the cost price? We estimate the activity level to calculate a budgeted overhead rate
because we need to know the estimated cost price of our production, and we need to know this before
the end of the year. Refer to page 94 in Drury SA 1% edition or page 61 in Drury 10" edition for a full
explanation of why budgeted overhead rates are used.

o SAICA 2008 QE 1: Amandla Engineering

4. How do we allocate manufacturing overheads to products?

Note: Allocation of manufacturing overheads forms part of Absorption costing.

Manufacturing overheads cannot be traced directly to products. They are assigned to products using
cost allocations. A cost allocation is a process of estimating the cost of resources consumed by products
that involve the use of surrogate rather than direct measures, as set out in LEARNING UNIT 1.1

To calculate the budgeted overhead rate:

Budgeted manufacturing overhead
Budgeted overhead rate = Appropriate allocation base
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Focus note:

Please study Drury (SA 1% edition) pages 192 — 193 or Drury (10" ed) pages 158-160 in depth. The
most appropriate allocation base (denominator) is the AVERAGE long-run capacity utilisation (i.e., plant
life). If this is not given, you may use the next period’s budgeted activity.

Refer to IAS 2 par 13 on the dangers of over or under-costing products when using the next period’s
budgeted activity level.

The following activities are popular for allocating overheads because they are simple to calculate:

) Direct labour hours
) Machine hours

Other traditional bases used may be:

. Labour cost Rands
. Units produced

The above are normally referred to as traditional or volume-based bases.
Activity 1.2.1 — Traditional bases applied

The budgeted fixed production overhead for 20x8 is R900 000. The average long-run utilisation and
related costs for this plant are:

. Direct labour hours — 36 000 hours
. Machine hours — 22 500 hours
. Units produced — 45 000 units
. Labour cost — R540 000
REQUIRED

Calculate a budgeted fixed overhead rate for each of the traditional measures above.

Feedback 1.2.1

FOH rate based on direct labour hours R900 000 + 36 000 hours
R25 per Direct labour hour

FOH rate based on machine hours R900 000 + 22 500 hours
R40 per Machine hours

FOH rate based on units produced R900 000 + 45 000 units
R20 per unit

FOH rate based on direct labour Rate cost R900 000 + R540 000
R1,667 per R1 direct labour

Or 166,67% of labour
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7. Calculating fixed production overhead variances (Absorption costing)

TOTAL FIXED PRODUCTION
OVERHEAD VARIANCE
(Under-/over recovery)

Volume variance

(difference between original budgeted and
the amount allocated to actual production)

Expenditure variance

Applicable if there is a difference between
budgeted and actual cost in rand terms.

Focus note

Even though fixed production cost variance is reported on a total basis, for management accounting
purposes, you should be able to distinguish between volume and expenditure variance as a cost control

measure.

You can calculate an expenditure variance even if you do not apply a full standard costing system and

for variable costing.

Activity 1.2.2 — Basic example: Overhead recovery and variances

Budgeted activity = normal average long-run capital utilisation

Budgeted fixed production overheads R2 000 000

Budgeted annual activity 1 000 000 direct labour hours

Actual overheads R2 125 000

Actual activity 900 000 direct labour hours
REQUIRED

Use the above information to calculate the volume and expenditure variances.
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Feedback 1.2.2

STEP 1: Calculation of budgeted rate = Budgeted OH appropriate allocation base
Budgeted rate = R2 000 000/1 000 000 hours

= R2/hour

STEP 2: Rate x actual production volume
Therefore, absorbed into production (R2 x 900 000 actual hours) R1 800 000
Budget (based on 1 000 000 hours) R2 000 000
Volume variance (difference between absorbed and budgeted hours) R 200 000

Is this an over- or under-recovery (favourable or unfavourable)?

If all goes according to plan, we would have allocated all fixed production overhead costs to
the production account. However, due to the volume variance this does not happen.

The T-accounts would look like this:

Dr Cr Dr Cr
Actual production overheads Production overheads control (= Budget)
R R R R
Production costs 2 000 000 From actual 2000 000 | To production 1800 000
. To expenditure
Bank/creditors 2125000 variances 125 000 To volume var. 200 000
Closing balance
2125 000 2125000 2 000 000 2000 000
Dr Cr Dr Cr
Production Volume variance
R R R R
All overheads 1800000 | To inventory XXX Prod o/h 200 000 XXX
XXX XXX

If there is a debit balance left in the production overheads control account, it means the costs are not yet
recovered. A credit balance means more costs are recovered.

Therefore it is an adverse volume variance of R200 000 (unfavourable) as we were not able to
utilise our machine effectively and allocate the total budgeted fixed overhead using the fixed
overhead rate.

Expenditure variance

This is a separate calculation and is NOT concerned with the recovery of fixed overheads.
Expenditure variance = Actual overhead expense — budgeted overhead expense
Expenditure variance = R2 125 000 — R2 000 000

= R125 000 Unfavourable

This is treated as a period cost and should not be debited to production costs (expense account).
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Note:

You have to indicate variance as “Favourable” or “Unfavourable/Adverse” and indicate signs
“+ or _ll

In the illustrative example you will see that both the volume and expenditure variance for
absorption costing system are included separately:

» NOT as Cost of Sales;

» NOT as part of the production cost;

> But separately above the Gross profit line.

Remember that actual fixed costs are below the contribution line for the Variable costing system
and are expensed and treated as a period cost.

Activity 1.2.3 — Overhead recovery
Use the same information as in activity 1.2.2, but now assume that:

Actual annual activity 1 050 000 direct labour hours

REQUIRED
Calculate the volume and expenditure variances.

Feedback 1.2.3

Charged to production (R2 x 1 050 000 actual hours) R 2 100 000
Budgeted overheads (Based on 1 000 000 hours) R 2 000 000
Volume variance (Favourable) R 100 000

This is a favourable volume variance and would usually be a credit or negative period “cost”. Refer to
Activity 1.2.5 part d) for the accounting treatment where this variance is “unusually” high.

Activity 1.2.4 — Overhead and volumes

The Rubber Company’s Cape Town factory budgeted that their 20x8 overhead would be R4 800 000.
Their normal average long-run manufacturing level is 80 000 fan belts. The actual costs for 20x8 were
R4 890 000 and 75 000 fan belts were manufactured.

REQUIRED

Calculate the volume variance and explain how it will be treated.
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Feedback 1.2.4

The fixed overhead rate is determined based on the normal average capacity level, in this case
80 000 units.

Budgeted overhead rate
= R4 800 000 - 80 000 fan belts
= R60/fan belt

Expenditure variance

Actual incurred R4 890 000
. Budget R4 800 000
Variance: Expenditure R90 000 Unfavourable

Volume variance

Manufactured units are less than the allocation base, there is thus an ‘under-recovery’ (less) of
cost as each unit manufactured will receive the budgeted rate.

. ‘Under-allocation’: volume variance R 300 000
[80 000 units — 75 000 units] (5 000 units x R60)

OR
Detailed disclosure: Budgeted R4 800 000
Allocated to production 4 500 000
Alternative: R4 800 000 — R4 500 000 R300 000 Volume variance

It appears as if there is a favourable variance (in rand terms), but you should consider the units
manufactured, which are less than budget and therefore unfavourable. Under absorption costing the
volume variance is unfavourable and must be treated as a period cost.

Please note that the above activities use fixed production overhead costs. If a question states
that labour cost is FIXED, labour cost should be treated in exactly the same manner as fixed
overhead cost.

For management accounting purposes, you must show the expenditure and volume variances
separately on the statement of profit or loss and other comprehensive income above the gross profit
line. Don’t just include the actual fixed production overhead costs.
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Activity 1.2.5 — Advanced scenario

What topics does this activity cover?

* High-low method

* Absorption costing

* Allocation of overheads

* Variable costing

Question (C1) 22 Marks

You were involved in the preparation of the budget at the beginning of this year. The company
manufactures only one product. Estimates of annual sales, production and sales, distribution and
administration costs for a one-year period, on which your plans were based, are set out below:

C1: Note mark allocation and calculate how long it should take you to answer this question.
22 x1.5 = 33 minutes

Activity level 80% 100%

Sales and production (C) (C2.1) 720 000 units 900 000 units
Sales R5 760 000,00 R7 200 000,00
Production costs R2 970 000,00 R3 420 000,00

Sales, distribution and administration costs R1 864 000,00 R2 080 000,00

C2.1 Sales = Production Therefore, no movement in inventory forecasted/ budgeted.

C2: There are two levels of production and 2 costs, therefore you should use the high-low
method to determine the fixed and variable components

The production costs and the sales, distribution and administration costs are total costs, therefore
include both variable and fixed costs (C3). Fixed costs are incurred evenly throughout the year.

C3: Production and sales and distribution have BOTH fixed and variable components. You
have to split these costs using the high-low method. Fixed costs incurred evenly throughout
the year. Make a note of this — refer to reporting period.

The normal average long-run level of activity used for allocating fixed production overheads is
900 000 units per annum. (C4)

C4: Make a note of this. You will need it to calculate fixed overheads absorbed in part (a).
C4.1: This is the actual figures.

The following information pertains to inventory for the first quarter which has just ended: (C4.1)

. Opening inventory of finished goods 5 000 units
. Units manufactured 240 000 units
. Units sold 228 000 units (C5)

\ C5: You can use this information to calculate closing inventory. \

. The actual fixed costs incurred equal budgeted amounts. (C6)

\ C6: No expenditure variance. This applies to ALL fixed costs \
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Required:

(&) Calculate the following for the first quarter if absorption costing (C7) is used:
C7. Fixed production overheads allocated to production. Budgeted overheads divided by
appropriate allocation base.

1. The total amount of fixed production overheads absorbed during the quarter (C8) that has just
ended. (5 %)

C8: What was produced for the quarter, not sold. ‘

2.  The volume variance (C9) for fixed production costs for the quarter, and (2 %)

C9: Compare budget to actual production.
Read the required: Per Quarter not per annum.

3. The profit for the quarter, as shown in the Statement of profit or loss and other comprehensive
income (C10) (8)
| C10: Prepare a detailed Statement of profit or loss

(b) Prepare the journal entry to record the volume variance calculated above. The narration may be
omitted. (1)

(c) Calculate the net profit or loss for the quarter if variable costing (C11)
(direct costing) is used. (You are advised to simply adjust the absorption costing profit figure
already calculated, (C12) rather than drawing up an income statement on a contribution basis.)

3)

C11: What is variable costing? Note the different terms in brackets for variable costing.

C12: Time saving. Don’t waste time drawing up a new income statement. Read the required

(d) What should the value of inventories be in terms of IAS 2 (International Accounting Standards),
given that the high level of production is considered to be materially different (C13) from the
budget? Assume that year-end considerations must be taken into account now already. (2)

C13: Value of closing inventory per the Statement of Financial Position. Please note the high
level of production comment. Will one have to adjust closing inventory?

(e)

You may assume that sales revenue and variable costs per unit equal budgeted amounts. (C14)
C14: No variances from budget — can value inventory at budgeted cost per unit, except for
adjustment may be required as result of production volume.

Ignore all forms of taxation.

(Source: AGA — adapted)
Feedback 1.2.5
(a) High-low method for production costs and sales distribution and admin costs:

Calculations:
Production costs R
Total production costs @ 900 000 units 3420 000
Total production costs @ 720 000 units 2 970 000

450 000
Variable production cost per unit =450 000/ (900 000 — 720 000)
=R2,50
Total production costs 3420 000
Variable production costs 2 250 000 (900 000 x R2,50)

Fixed production costs 1170000



Sales, distribution and admin costs (S,

Total S,D&A costs @ 900 000 units
Total S,D&A cost @ 720 000 units
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D&A)

2080 000,00

1 864 000,00

216 000,00

Variable S,D&A cost per unit

Total S,D&A costs
Variable S,D&A costs
Fixed S,D&A costs

MAC4861/102

216 000/(900 000 — 720 000)

R1,20

2 080 000

1 080 000 (900 000 x R1,20)
1 000 000

Opening inventory
Units produced
Unit sold

Closing inventory

240 000 units
(228 000) units
17 000 units

5 000 units

High-low method
used to separate
fixed and variable
costs.

-
Normal average long-

run level of activity

used for rate.
o

Budgeted fixed production overhead rate = R1 170 000/900 000 units

= R1,30 per unit

Cost per unit = R2,50 (VC) + R1,30 (FC) = R3,80
(a)
1. Fixed production overhead amount absorbed
2. Fixed production overhead incurred
(= budget therefore : R1 170 000 x %)
Overhead absorbed R 312 000**
Volume variance (over recovery)
3. Profit using absorption costing R
Sales (228 000 x R8)
Cost of sales:
Opening inventory (5 000 x R3,80) Production
(240 000 x R3,80)
Closing inventory (17 000 x R3,80)
Sales less Cost of sales
Total Fixed overhead variance
Favourable volume variance 19 500
Expenditure variance 0

Gross profit

Selling, distribution and admin costs:
Variable (228 000 x R1,20)

Fixed (1/4 x R1 000 000)

Net profit

Dr Production overhead control

(b)

R19 500
Cr Profit and loss/Cost of sales

= 240 000 units x R1,30

= R312 000
Units manufactured
drive absorption of
R 292 500* cost
R 19500 Use fixed overheads
- for the quarter
only!!!
*900 000 X 1/4
=225 000 X R1.30
1824 000 *+240 000 X R1.30
(866 400)
19 000
912 000
(64 600) [ As per part 2 ]
957 600
19 500
~
Variable cost now
- linked to number of
977 100 units sold.
(. /
(273 600)
Used fixed h
250 000 overheads for the
m quarter only!!! X1/4
o
R19 500 N1: Sta.trt with .
absorption costing
profit per above.
- J
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(c) Absorption costing profit (N1) 453 500 - This is calculated as follows:
Fixed overhead deferred in Inventory (N2) N2 s 5 calouialed as follows:
(12 000 x R1,30), now expensed (15 600) (opening inventory)
Less
Variable costing profit R437 900 17000 x1.3 = (22 100)

(closing inventory)

The difference between absorption and variable profits will always be the fixed production
overheads component per unit multiplied by the inventory movement in units:

Opening inventory units x fixed production overheads
per unit (5 000 X R1.3) R 6500

Less closing inventory units x fixed production
overheads per unit (17 000 X R1,3) (R 22100)
Difference in profits R 15 600

Note:

Remember that when you work with annual profits, the fixed production overheads component per
unit of the opening inventory will be different from the closing period as it is derived from different
production periods. You may need to do some calculations to compute the operational inventory
values.

The volume and expenditure variances are “exposed” under both systems and will not make a
difference.

(d) Additional explanation: Abnormally higher levels of production

IAS 2 par 13, states that the allocation of fixed production overheads to the costs of conversion is
based on the normal average capacity of the production facilities. However, in periods of
abnormally high production, the amount of fixed overhead allocated to each unit of production is
decreased so that inventories are not measured above cost. (This is normally only applied at year-
end.)

The scenario states that the normal level of activity used for budgeting purposes is 900 000 units per
annum which, was used to determine the overhead rate of R1,30 per unit.

The Required states that “the high level of production is considered materially different from the
budget” and that year-end considerations must be considered. The production level for the specific
quarter should then be compared to the normal level of activity of 900 000 per annum. The production
for the quarter is converted to an annual figure:

240 000 (quarter) x 4 =960 000 units per annum.

This is abnormally high (+6,67%) compared to 900 000 and therefore the overhead rate should be
decreased by using 960 000 units instead of 900 000. Using 900 000 has resulted in a higher rate
and therefore overstated the inventory value.

The rate is recalculated: R 1 170 000 / 960 000 = R1,21875 per unit.

Difference between new rate and previous rate: R1,30 — R1,21875 = R0,08125

Closing inventory (17 000 units) already includes R1,30 per unit which, must be written down:
=17 000 units x R0,08125 per unit = R1 381,25

Note: The fixed production overhead component of units sold has already been expensed. Only the
value of inventory carried in the SFP is affected, as it is overstated.
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Inventory value (17 000 x R3,80) 64 600
Less: Deferred volume variance (1381)

63 219
Workings:

Closing inventory (17 000 units) to be written down as follows:
17 000 x (R1,30 — R1 170 000 / 960 000) = R1 381,25

Dr Income R1 381,25
Cr Inventory R1 381,25
Activity 1.2.6

Attempt questions from the Drury Student Manual:

Miozip Company | Question 7.10 (SA 1%ted) page 41 to 42, solution p 258 to 259
Question 7.10 (10th ed) pages 42-43, solution p 237 to 238

R Ltd Question 7.7 (a and b only) (SA 1%'ed) page 39, solution p 254 to 255
Question 7.7 (a and b only) (10th ed) page 40, solution p 233 to 234

Attempt question from the Drury Textbook:
Question 7.13 (SA 1%ed) pages 196, solution page 846
Question 7.16 (10" ed) page 164, solution page 749

Feedback 1.2.6

Question 7.10 — Miozip Company

Ensure that you have revised the examples in Chapter 7 that explain the differences between the profits
of a variable and absorption costing system.

Variable costing: As sales INCREASE, Profits INCREASE- it is straightforward.

Absorption costing: It depends on production and sales. If you produce an excess in one year (sales <
production), then the “leftover” inventory is carried in the current year's closing inventory and carried
forward to next year’s opening inventory, therefore affecting the cost of sales value, which has an effect
on the profit.

REFLECTION 1:

If the Statement of Profit or Loss and other Comprehensive is prepared on an absorption costing basis,
the fixed production overhead costs are carried in opening and closing inventory thus distorting the
actual cost of sales and affecting the final profit figure.

If required to perform “appropriate supporting calculations”. Consider what calculations | should show to
prove that the absorption costing system distorts the profits? What is an ideal costing system? Variable
costing. This is because profit varies directly with sales. As sales increase, profit increases.

WORK SMART: Time management: Don’t prepare an entire Statement of Profit or Loss and other
Comprehensive income. What is the difference between a variable costing system and an absorption
costing system?

Fixed overheads are included in opening and closing inventory in the cost of sales of the absorption
costing system. Calculate how much fixed production overheads have been included in opening and
closing inventory and recalculate what your profit would have been if the effect of fixed overheads was
excluded.
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TIP: You are given the total opening and closing inventory. You know what the cost per unit is (given in
the scenario), therefore you will be able to calculate the units for opening and closing inventory.

REMEMBER:

In a variable costing system, fixed manufacturing overheads and other fixed non-manufacturing
costs are treated as period costs and are thus charged directly against profits.

In an absorption costing system, fixed manufacturing overheads are a product cost and are
therefore included in the valuation of inventory (part of cost of sales).

This means that cost of sales and thus profits will be affected by the changes in inventory.
Therefore the inventory movements can have an un/favourable effect on profits even though
sales/revenue increases.

REFLECTION 2:

READ CAREFULLY:

What information has been given in the scenario?
Are there:

e Variable costs
e Semi-variable costs (high-low?)
o Fixed overheads (What do they want me to do with this?)

If the company uses a variable/marginal costing system and Management wants to compare this to an
absorption costing system.

REMEMBER:

1.

2.

How is a Statement of Profit or Loss and Other Comprehensive Income prepared on a variable

costing basis?

What does preparing a Statement of Profit or Loss and Other Comprehensive Income mean on an

absorption costing basis?

e The fixed overheads are included in the cost of the product

e To assign overheads | have to calculate a budgeted overhead rate: Overhead rate = Budgeted
overheads (rand) / Allocation basis (labour hours, machine hours, units)

¢ Expenditure variance? Is there an expenditure variance? There will be an expenditure variance if
there is a difference between budgeted and actual overheads.

Where do | start?

Sort out your costs per unit. What is my product cost? What is the variable product cost?
What is the fixed product cost? (Remember that you will have to allocate the fixed
overhead cost to each product using an overhead rate.)

What are my units?

Note: there is no additional or lower allocation of fixed costs in the absorption costing
Statement of Profit or Loss and Other Comprehensive Income in part i) of the solution.
Guidance for the absorption costing Statement of Profit or Loss and Other

Compare your answers to the solutions on the pages as indicated above. Where you have gone wrong,
reflect upon why it has happened, as that will improve the learning process. Is there anything
specific/strange/unusual in the solutions that you want to point out?
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I i Video

Watch the videos about a brief variable and fixed cost concepts; variable and absorption costing and
overn and under recovery of overheads available on MyUnisa refer to lesson 1.2.

N

)
(=
D

RECAP QUESTIONS from tutorial letter 103 that will be made available later for
revision and assessment preparation purposes:

e Ice Castle part a (i); (i) and (iii)
e Famous Fishing part (l)

e Honeysmooth (Part A) (a, b, c, d, e)

Enrichment activity

Follow the link and watch the “How it's made” episode about the production of microprocessors:
https://www.youtube.com/watch?v=0|Bkc2xKAhE

Note that a highly mechanised and computerised production process will result in a high proportion of
overhead costs and therefore need an absorption costing system to determine the cost of each
microprocessor.

8. Summary
In this learning unit, we covered the calculation of an appropriate fixed overhead rate and the

preparation of the Statement of Profit or Loss and Other Comprehensive Income using the absorption
and variable costing methods.


https://www.youtube.com/watch?v=OjBkc2xKAhE
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Activity-based costing (ABC)
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1.3.
1.3.

differ.

LEARNING UNIT 1.3 LEARNING OUTCOMES

After studying this topic, you should be able to do the following:

Apply an activity-based costing approach to costing information in a scenario.
Advise management on which type of costing system is appropriate and how the systems

Prior learning

This course assume students have already mastered the work equivalent to that presented in Unisa’s
preceding undergraduate degree. Please ensure that you are up to date with the prior learning for the
topic of activity-based costing. If not, please refer to your undergraduate study material and revise the
textbook (Drury) using the page numbers below:

Prior learning

Drury SA 1stedition

Drury 10th edition

Before studying this topic, you should be able
to:

Describe the differences between activity-
based and traditional costing systems.

Identify environments that are favourable for
the implementation of an ABC system.

Explain why traditional costing systems can
provide misleading information for decision-
making.

Identify and explain each of the four stages
involved in designing ABC systems.

Apply an activity-based costing approach to
costing information.

Determine cost hierarchies in an activity-based
costing system.

Apply product profitability analysis using
activity-based costing hierarchies.

Discuss the use of activity-based costing in
service  organisations and its other
management applications.

Describe activity-based budgeting (ABB).
Describe activity-based management (ABM).

Applicable references:

Drury: Chapter 5:
Activity-based costing.
Pages 114 — 149.
Drury: Chapter 4:
lllustration of the two-
stage process for an
ABC system. Pages 87-
94.

Drury: Chapter 16:

Activity-based budgeting.

Pages 476 — 479.
Drury: Chapter 23:
Activity-based
management.
Pages 739-743

Applicable
references:

Drury: Chapter 11:
Activity-based costing.
Pages 255-267 and
270-277

Drury: Chapter 3:
lllustration of the two-
stage process for an
ABC system. Pages
51-60

Drury: Chapter 15:
Activity-based
budgeting. Pages 386—
388

Drury: Chapter 22:
Activity-based
management.

Pages 598-602

1.

Introduction

Even though activity-based costing (ABC) is presented as a separate topic in management accounting,
it is in reality an extension of the previous topic: ‘absorption costing’. The reason is that ABC is quite
simply a different absorption costing method for the allocation of fixed manufacturing overheads to
products. The only difference between ABC and the traditional methods is that ABC uses different
activities as its allocation base, whereas the traditional methods only use volume-related bases, such
as machine or labour hours, to allocate overheads to products.

Do not confuse ABC and Absorption costing, even though ABC is an extension of Absorption

costing it is not the same term.
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Absorption costing
|

Standard FOH rate
Traditional e — ABC
(Activity based costing)

J

Volume based such Identify activities and
as machine hours cost drivers
or number of units
produced

N

. Critical topics:

Activity-based costing and cost drivers
ABC profitability analysis
Activity-based budgeting and activity-based management (resource consumption models)

w

. Activity-based costing (ABC)

a) Why do we use ABC?

ABC is used as it may lead to more accurate pricing of products, which will therefore influence all
decision-making with regard to those products, e.g. whether or not to withdraw a product, or what price
to charge for it.

Traditionally, overhead costs were either small in comparison to directly measurable and traceable
costs, such as material costs or the fixed overhead costs were largely volume-driven (i.e. machine or
labour hours). The method of allocating overhead costs to products was historically largely unimportant.
However, in the advanced manufacturing environment that companies are currently trading in, fixed
overhead costs have escalated dramatically, and now make up a substantial portion of the cost of a
product. It is becoming increasingly important to allocate the cost of the overheads correctly to the
products involved, to ensure a firm's continued success and competitiveness.

ABC is also useful in the costing of cost objects separate from products. When ABC is applied to support
activity hierarchies, costs for diverse cost objects such as a whole product line, a production plant, a
customer, customer groups (geographic area) etc. can be computed. This is important for analyses of
profitability of the diverse cost objects in support of management’s decisions regarding allocation (or
withdrawing) of resources. ABC and its related concepts are therefore a very handy arrangement tool
in optimising an entity's fixed production and other support activity infrastructure.
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| b) How to attempt an ABC question

What information should you be looking for?

STEP 1: Existing method — for example, the company could use a traditional absorption costing
method or direct/variable costing. You have to ascertain the existing costing method as this will
be the first calculation. Every question is different because every company is different.

STEP 2: ABC calculation questions often require a student to compare an ABC system with an
existing product costing method. You should thus separate the information for the existing product
costing method and the ABC method.

STEP 3: ABC - Identify the activities and their relevant cost drivers and decide which cost
driver matches a specific overhead cost. Calculate the cost per activity using the cost drivers and
then allocate costs to products/cost objects based on their usage of the activity.

Always remember that the difference between all the costing methods i.e. variable costing,
absorption costing and ABC costing lies in the treatment of the fixed manufacturing overheads.

| FIXED OVERHEADS ONLY |

N

Existing method ABC method
# Variable costing? # Activities
# Absorption costing? # Cost drivers?
# Consume support activities equally # Large variation in consumption of
# Support activity costs are small when support activities
compared to total overhead costs # Support activity costs are a substantial

part of total overhead costs

Activity 1.3.1 — Comparative overhead rates

Company A manufactures 100 000 reams of paper, consisting of 70 000 reams of white paper,
20 000 reams of blue paper and 10 000 reams of green paper. Manufacturing is arranged in such
a way that it only requires one set-up per type of ream (i.e. white, blue and green) regardless of the
volume produced. Each set-up activity costs R50 000. Overhead cost is allocated on a per unit
basis.

Use the above information to calculate and compare the set-up cost per ream per type of paper
using traditional absorption costing and ABC analysis.

Feedback 1.3.1

Traditional absorption costing

In a traditional costing system, the total cost of the set-up activities, i.e. R150 000 (R50 000 x 3 set-
ups) will be allocated on a volume-based measure (units) to the different products.

The calculation will be:

R150 000 set-up cost / 100 000 reams manufactured = R1,50 per ream (irrespective of type)

ABC analysis

ABC realises that each type of paper leads to a set-up activity being incurred and allocates the cost of

that activity to the product that caused the cost.
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The allocation will therefore be done as follows:

White paper: Set-up cost R50 000/ 70 000 reams manufactured = R0,71 per ream
Blue paper:  Set-up cost R50 000 / 20 000 reams manufactured = R2,50 per ream
Green paper: Set-up cost R50 000 / 10 000 reams manufactured = R5,00 per ream

Comment

Traditional absorption costing methods over-cost fixed over